Ward-Takahashi-Slavnov-Taylor identities (Eq. Itzylrson - Zuber) If ju is a conserved carrent due to some continuous symmetry a, the $O = \left(\begin{array}{c} \partial_{y} \leq O \mid T \\ \partial_{y} = \int \partial_{y} \leq O \mid T \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \cdots O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\ \partial_{y} = \int \partial_{y} \langle \gamma \rangle O(\gamma_{n}) \\$ $\geq \langle \circ | G(x_n) \cdots S_{\alpha} G(x_i) \cdots G(x_n) | \circ \rangle$ where Sal is the variation of Gundeia glebal symmetry transformation with parameter &. Word-Talrahashi id Let & be the Noethou charge associated to the symmetry a of a lagrangiaen systeme. If L is lowerty covariant P{ . we keen $\dot{Q} = \int d^3x \int o(x,t)$ for some conserved current ju (r, f) In the guarture theory the symmetry a translates into the condition Q(0) = 0

Thus $O = Co\left[\left[O, V, (x_1, f_1), \dots, V, (x_m, f_m)\right](o)\right]$ $= \int \leq O \left[\int_{0}^{0} (y,t), V_{n}(x_{1},t_{n}) \cdots V_{n}(x_{n},t_{n}) \right] \left[O \right] dy$ $= \int dy dt \partial gn \mathcal{L}[T \xi_{j}^{on}(y,t) V_{\lambda}(x_{1},t_{n}) \cdots V_{n}(x_{n},t_{n}) \xi_{j}] \partial y$ $C_{\mu j}^{\mu} = \partial_{i} \partial_{e} \partial_{e} \partial_{e} (t - t_{i}) = S(t - t_{i})$ ¥ Rom: We can also consider a local transformation by letting a depend on X. Then we have instead the mealcer condition: $-\int \partial_{\mu}\alpha \quad \langle 0|T_{j}^{j}m(y)G(x_{n})\cdots G(x_{n})^{2}|0\rangle$ $+ \sum_{i} \left(\circ | G(x_{i}) \cdots S_{\alpha} G(x_{i}) \cdots G(x_{n}) | \circ \right) = o.$

What is the analog of this in the FP quantisation d' some non-abelian gauge fleeory? Since we already fixed the genue one might think that there is no have of such with On the other hand we have argued there the FP-procedure is independent of the gauge choice.

For a generic, not-necessarily gauge-invariant insertion, f (Mm) we then define $\langle f(H_{m}) \rangle := \frac{1}{2} \int D(H_{m}) \Lambda(H_{m}) f(H_{m}) e^{\frac{1}{4}} S[H_{m}] + \frac{L}{2} \int F^{q}(H_{m}) F^{q}(H_{m}) e^{\frac{1}{44}} S[H_{m}] e^{\frac{1}{44}} S[H_{m$

: note that this definition is not unique. For instance replacing F^a(M_m) by F^a(A_m) would be another definition Under a infinitesimal gauge transformation

 $H_{n} \rightarrow H_{n} = H_{n} + \frac{1}{g} D_{\mu}^{o} \Theta$

However, since we integrate over the whole configuration space {A} = {A'} we have

 $\langle f(A_n') \rangle = \frac{1}{2} \int D(A_n') \Delta [A_n'] f(A_n) e^{\frac{1}{2}} (S[A_n'] + S_{q}(A_n'))$



On the other hand, since $D[H_{\mu}] \Delta (H_{\mu}) = D[H_{\mu}] \Delta (H_{\mu}) = tisch_{\mu}$

we conclude that, for an infinitesimal transformation, $O = \int D(F_{\mu}) \Delta(F_{\mu}) \left(S f(F_{\mu}) + f(F_{\mu}) + S F^{\alpha} S F^{\alpha} \right) \cdot \frac{1}{2} S F^{\alpha} F^{\alpha} (\Pi)$ $= f(F_{\mu}) + f(F_{\mu}) + F(F_{\mu}) - F(F_{\mu})$

This is a Skounou - Taylor identity which reprodu-

ces the Ward-Takahashi Identity above. Indeed for a global licensformation $O \neq O(x)$ $S(F^{q}F_{a}) = 0$ and thus < Sf(A,)) = 0 reproduces the Cer

above.

The analogy with the previously reviewed word -Takohoshi identhily becomes apporent if we consider a mellillocal insertion of (M,) (X,;..., Xn), and urall that Euclidean condection fun ous translate into time ordered correleation functions n Minkowski signature.

an alternative representation of this identity is obtained in terms of the ghost fields y'a, 2ª: let us write

 $S' = \left(d_{X}' \left(h(H_{\mu}) + \frac{\lambda}{2} F^{q} F^{q} + H_{q} \mathcal{M}^{o}_{b} H^{b} \right) \right)$

an show that S^{tt} is involvent under the local Erans permation

 $(SA_{a}^{M}(x)) = SZD_{ab}H^{b} = :SZS(M_{a}^{M})(x)$ $(\mathbf{x}) \begin{cases} S \overline{H} a(x) = -S \xi \times F_a(\overline{H}, x) =: S \xi S(\overline{H}a) (x) \\ S \overline{H}^a(x) = S \xi \frac{1}{2} C^a b c H^b(x) H^c(x) =: S \xi S(\overline{H}^a)(x) \end{cases}$

where s is an odd vector field on the graded space of fields and \$ is a constant, odd (anti-commuting) parameter. We leave the proof of this as an exercise. The invariance under (*) is the BRST invariance of the DeWitt-Faddeev-Popov path integral.